© Copyright : Gatic Pty Ltd - 2018

1 2 3 4 5 6 7 8 9 10 11 12 13 14 | 15 16
NOTE:
FRAME COMPONENTS ASSEMBLED
USING M10x40 HEX BOLTS COMES WITH
WASHERS AND NUTS
- B
C2NC O C ol
,.\O 2 [ .;:|| e ||:-. (S o/\

—

/ N
R | ?
[
Q
L o _/ \ 7 \_ O
| e — &3“ fé — e ~
o ®© M || 2 | ey ] o
[
|
SECTION B-B GM301C67D
~—— B Item [ Document | Revision Title Material Qty. Mass
- 690 — No. | No.
| 840 N 1 1720 D 610x762 C/O Cover Class D Ductile Iron 500 - 7 1 63.1 kg
2 4007 B 610mm Under Cut Bar Class D | Ductile Iron 500-7 1 8.7 kg
3 4004 B 610mm Draw Cut Bar Class D | Ductile Iron 500-7 1 10.6 kg
4 4009 C 762mm LH Side Bar Class D Ductile Iron 500-7 1 11.3 kg
~ \ ’ﬁ\ ’ ‘ / 5 4011 C 762mm RH Side Bar Class D Ductile Iron 500 - 7 1 11.3 kg
o
S ™ 2 - =2k J ; z 6 1681 A Plastic Keyhole Plug UV Stabilized Nylon 4 0.0 kg
: - 7 2856 A M10 Washer Nylon, general purpose 2 0.0 kg
610 C/O 8 2857 A M10x65 Socket Head Cap Bolt | Stainless Steel, 304 2 0.1 kg
9 2855 A M10 Washer Stainless Steel, 304 2 0.0 k
SECTION A-A 2
10 2854 C Plastic Plug @26 mm UV Stabilized Nylon 2 0.0 kg
UNLESS OTHERWISE STATED | jygaR MACHINING TOLERANCE: NOM = Nominal; O/A = Overall; TYP = Typical; C/O = Clear Opening — BY DATE |“Chsoice7p | ™ 610 x 762 C/O CONCRETE INFILL COVER &
% ALL MEASURES IN MILIMETERS. X.  £0.25mm E oesianeD: | F.M. | 22-07-08 [Scae: FRAME ASSEMBLY CLASS D
@ GENERAL CAST TOLERANCES: XX 0.0 mm FIN IS H: A O o T AL ACK: — @ oraw | H.L. | 22-07-08 FORMAE'T'S' HATERIAL | s 102.7 kg
0 A | 14-09-18 |Initial Release FM. | SS (c:AT\thfNIs(;:DOIGIZ-E mm QNGULZ%P;/:CHINING TOHERANEE SG!;\'I{AF!\I‘ZI(S)E)E -SrI(E)Aﬁ‘I‘\ﬁI'S'?'IO BE APPLIED ON ALL AR ' THIRD ANGLE | cteckeo: | S.S. | 22-07-08 A3 Joow REV:
© No | DATE DESCRIPTION BY [CKD. | DRAFT TaPERS: 20 XX £0.1° MACHINED SURFACES. o e S e s toog wmmostiemmau | PROJECTION [weoveor| RB. | 27-07-08 |*°" 1o0f 1 55 19 A
1 2 3 4 5 6 7 8 9 | 10 | 11 | 12 | 13 14 | 15 16




